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fo”ks’k funsZ”k %& 
 

Special Instructions :- 
 
 
 

(i) viuh mÙkj&iqfLrdk ds eq[; i`’B ds Åij ck;has vksj fn, x, o`r esa iz”u&i= lhjht vo”; 

fyf[k,A 

 

You must write question paper series in the circle at top left side of title page 
of your answer book. 

 

(ii) iz”uksa ds mÙkj nsrs le; tks iz”u&la[;k iz”u&i= ij n”kkZbZ xbZ gS] mÙkj&iqfLrdk 

ij ogh iz”u&la[;k fy[kuk vfuok;Z gSA 
 

While answering your questions, you must indicate on your answer-book the 

same question no. as appears in your question paper. 
 

(iii) mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksfM+,A 
 

Do not leave blank page/pages in your answer-book. 
 

(iv) lHkh iz”u vfuok;Z gSaA 
 

 All questions are compulsory. 

(v)  tg¡k vko”;d gks] vius mÙkj ds lanHkZ esa ukeakfdr fp= Hkh cukb,A 

 Draw labelled diagram in support of your answer wherever necessary. 

 Questions from 1-15 carry 1 mark each. No mark will be given to the answer written after 

 cutting.  

 iz”u la[;k 1 ls 15 rd 1 vad dk gS mudk mÙkj dkV dj fy[kus ds dksbZ Hkh vad ugha fn, tk,axsA 

Q.1 Complete the chemical equation. 

 NaOH + HCl        ...…. + ….. 

 jklk;fud lehdj.k dks iw.kZ dhft,A 

Q.2 Write the common name of CaO 
 
 

(1) 



Ca O dk lkekU; uke fy[ksaA 
 

Q.3 Write the electronic configuration of Cl   ion 
 

Cl  ion dk bySDVªkWfud foU;kl fy[ksaA 
 

Q.4 Name the functional group present in CH3OH . 
 

CH3OH esa mifLFkr izdk;fRed lewg dkSu lk gS\ 

 

Q.5 Name the plant tissue which transports water and minerals. 
 

ikniksa esa ty rFkk yo.k dk ifjogu djus okys Ård dk uke fy[ksaA 

 

Q.6 Name the hormone which controls the blood sugar level in humans. 
 

ekuo esa jDr “kdZjk Lrj dks fu;fU=r djus okys gkeksZu dk uke fyf[k,A 

 

Q.7 Write the full form of abbreviation D.N.A. 
 

D.N.A. dk foLrkfjr :i fyf[k,A 
 

Q.8 Name the father of Genetics. 
 

vuqokaf”kdh ds tud dk uke fyf[k,A 
 

Q.9 Define the unit of Potential Difference. 
 

fo|qr foHkokUrj dh bdkbZ ifjHkkf’kr dhft,A 
 

Q.10  Write the lens formula. 
 

ySal lw= fyf[k,A 
 

Q.11  What is the far point for a normal human eye? 
 

lkekU; ekuo us= dk nwj fcUnq fdruk gS\ 
 

Q.12  Refractive index of water is ------------ 
 

ikuh dk vioZrukad ----------------gSA 
 

Q.13  Name two non-renewable energy sources. 
 

ÅtkZ ds nks vuohdj.kh; Lkzksrksa ds uke fyf[k,A 
 

Q.14  On which river ‘Tihri Dam’ is built? 
 

^fVgjh ckU/k* dk fuekZ.k fdl unh ij gqvk gS\ 
 

Q.15  Define Biosphere. 
 

^tSoe.My* dh ifjHkk’kk fyf[k,A 

 
 
 

(2) 



iz”u la[;k 16 ls 25 rd izR;sd iz”u 2 vad dk gSA bu iz”uksa ds mÙkj yxHkx 30 “kCnksa ls 

vf/kd u gksA 
 

Question Nos. 16 to 24 carry 2 mark each and their answer should not be more than 

30 words. 
 

Q.16   “olu dks Å’ek{ksih vfHkfØ;k D;ksa dgrs gSa\ 
 

Why is respiration considered as an exothermic reaction? 
 

Q.17  MkWcsjkbuj ds oxhZdj.k dh D;k lhek,a gSa\ 
 

What were the limitations of Dobereiner’s classification? 
 

Q.18  dkcZu ,oa mlds ;kSfxdksa dk mi;ksx vf/kdrj muqiz;ksxksa esa bZa/ku ds :i esa D;ksa fd;k tkrk gS\ 

 

Why are carbon and its compounds used as fuels for most applications? 
 

Q.19  ikpd ,atkbeksa dk D;k dk;Z gS\ 
 

What is the function of digestive enzymes? 
 

Q.20  ijkx.k fØ;k fu’kspu ls fdl izdkj fHkUu gS\ 
 

How is the Process of Pollination different from fertilization? 
 

Q.21   2m QksDl nwjh okys fdlh vory ySal dh {kerk Kkr dhft,A 
 

Find the power of a concave lens of focal length 2 m. 
 

Q.22   rkjs D;ksa fVefVekrs gSa\ 
 

Why do stars twinkle? 
 

Q.23  fdlh pkyd dk izfrjks/k fdu dkjdksa ij fuHkZj djrk gS\ 
 

On what factors does the resistance of a conductor depend? 
 

Q.24    D;k dkj.k gS fd dqN inkFkZ tSo fuEuhdj.kh; gksrs gSa vkSj dqN vtSo fuEuhdj.kh;\ 
 

Why are some substances biodegradable and some non-biodegradable? 
 

 

Q.No. 25 to 28 carry 3 marks each and their answer should not be more than 40 
words 
 

iz”u la[;k 25 ls 28 rd izR;sd iz”u 3 vad dk gS bu iz”uksa ds mÙkj yxHkx 40 “kCnksa ls 

vf/kd u gksA 
 

Q.25 Glucose breaks into pyruvic acid in cytoplasm by the final product in different 
situations is different. Explain the process of glucose break down in 
following situations. 

 

 

(3) 



(a) In presence of oxygen 
 

(b) In absence of oxygen 
 

(c) In deficiency of oxygen. 
 

dksf”kdk nzO; esa Xywdkst ik;:osV ds v.kq dks fo[kf.Mr gksrk gSA fofHkUu ifjfLFkfr;ksa esa Xywdkst 

ds fo[k.Mu dh izfØ;k dk o.kZu djsaA 
 

(a) vkDlhthu dh mifLFkfr esa 
 

(b) vkDlhtu dh vuqifLFkfr esa 
 

(c) vkDlhtu dh deh esa 
 

Q.26 Metal compound A react with dilute hydrochloric acid to produce effervescence 
the gas evolved extinguishes a burning candle. Write a balanced chemical 

equation for the reaction, If one of the compound formed is CaCl2 . 

  

 dksbZ /kkrq ;kSfxd ‘A’ ruq gkbZMªksDyksfjd vEy ds lkFk fdz;k djrk gS rks cqncqnkgV mRiUu gksrh 

gS] blls mRiUu xSl tyrh eksecRrh dks cq>k nsrh gSA ;fn mRiUu ;kSfxdksa esa CaCl 2 gS] rks bl 

vfHkfdz;k ds fy, larqfyr jklk;fud lehdj.k fyf[k,A 

   

Q.27      20 Ω  izfr”kks/k dh dksbZ bLrjh  5 A fo|qr /kkjk ysrh gSA 30 s esa mRiUu Å’ek ifjdfyr dhft,A 
 

An electric iron of resistance 20 Ω  takes a current of 5 A. Calculate the heat 

developed in 30 s. 
 

Q.28   ÅtkZ ds vkn”kZ lzksr esa D;k xq.k gksrs gSa\ 
 

What are the qualities of an ideal source of energy? 
 

Q. No. 29 to 31 carry 5 marks and their answer should not be more than 70 words. 
 

iz”u la[;k 29 ls 31 rd izR;sd iz”u 5 vad gSa bu iz”uksa ds mÙkj yxHkx 70 “kCnksa ls vf/kd u gksA 

 

Q.29 fo|qr eksVj dk ukekafdr vkjs[k [khafp, bldk fl)kar rFkk dk;Zfof/k Li’V dhft,A 

eksVj esa foHkDr foy; dk D;k dk;Z gS\ 
 

Draw a labelled diagram of an electric motor. Explain its principle and 

working. What is the function of a split ring in an electric motor? 
 

Q.30   tkbye vkSj ¶yks,e esa inkFkksZa ds laogu eas varj Li’V dhft,A 
 

What are the differences between the transport of materials in xylem and phloem? 
 

Q.31   lkcqu dh lQkbZ izfØ;k dk o.kZu djsaA 
 

Explain the mechanism of the clearing action of soap? 
 

(4) 
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Q.1 Which one of the following types of medicines is used for treating acidity. 
 

(a) Antibiotic (b) Analgesic (c) Antacid (d) Antiseptic  

Q.2  The xylem is plants are responsible for 
 

(a) Transport of water 
 

(b) Transport of food 
 

(c) Transport of amino acids 
 

(d) Transport of oxygen 
 

Q.3 Conversion of glucose into pyruvic acid takes place in 

 (a) Golgi bodies (b) Mitochondrion 

 (c) Cytoplasm (d) Chloroplast    

Q.4 At centre of magnet, the magnetic effect (the effect of magnetism) is 

 (a) Maximum (b) Minimum    

 (c) Same as poles (d) Zero    

Q.5 Unit of resistivity is      

 (a) Ω (b) Ω m (c) P (d) m    

Q.6 ‘Near point of normal human eye is    

 (a) 25 m (b) 25 mm (c) 0.25 meter (d) 2.5 cm 

Q.7 To form a ‘image’ twice the size of the object, by using convex lens of focal length 20 cm, 

 the distance of object must be     

 (a) < 20 cm (b) > 20 cm  (c) between 20 & 40 cm (d) can not say 

Q.8 The power of convex lens having focal length 50 cm is 

 (a) - 2D (b)  1  (iii) 2 D (d) 1 D 
   

               2                              2  
Q.9 One day Teena has seen a very tall man, so asked her elder brother about it. The brother 

 told that extraordinary height is due to effect of a hormone. 
 
 

 

(1) 



(i) pituitary hormone   (ii) Growth hormone 
 

(iii) Thyrocine hormone  (iv) Oxytocin 
 

Q.10    A pot with a plant was laid as shown in the picture, for some days, the growth of stem and 
 

roots will be in the direction. 
 
 
 
 
 
 
 
 
 

 

(i) Roots and stem will grow upward 
 

(ii) Roots and stem will grow downward 
 

(iii) Stem upwards root downwards 
 

(iv) Root upwards stem downwards. 
 
 



 
 

 


